An electron is confined to an infinitely long thin
wire (along the x direction). Which of the
following 1s possible for the function v
describing the electron’s state?

4) y(x) =0 a ,
B) y(x) = x %
Oy =cosx)  adAacacAac,
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D) y(x) = 1/x/n(1+x2)%\

E) All of the above
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For an electron in a state represented by the Wavefuﬂctlon own, a mea-
surement of position is performed. Which of the following best represents a

possible wavefunction immediately after the measurement?
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Problem 4
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The figure above represents the photons in a beam of light with some fixed
wavelength and intensity. If size represents photon energy in the picture,
which of the pictures below best represents a beam of light with the same
wavelength but double the intensity?
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Problem 5

\‘P(ﬂ

The wavefunction for a traveling electron is described by a wavepacket whose
real part is shown above. Which of the following could be the real part of
the wavefunction for an electron traveling with double the velocity?




